

STATEMENT AND STUDY OF A BOUNDARY VALUE PROBLEM FOR A THIRD-ORDER EQUATION OF PARABOLIC-HYPERBOLIC TYPE IN A MIXED PENTAGONAL DOMAIN, WHEN THE SLOPE OF THE CHARACTERISTIC OF THE OPERATOR THE FIRST ORDER IS GREATER THAN ONE

MIRZA MAMAJONOV

Associate professor of Kokand State pedagogical institute

XILOLA SHERMATOVA

Lecturer of Ferghana state university

hilola-1978@mail.ru

Annotation: In this paper, we pose and study one boundary value problem for a third-order

parabolic-hyperbolic equation of the form
$$\left(a \frac{\partial}{\partial x} + b \frac{\partial}{\partial y} + c \right) (Lu) = 0$$
 in the pentagonal region, when the characteristic of the operator $a \frac{\partial}{\partial x} + b \frac{\partial}{\partial y} + c$ more than one. The unique solvability of the problem posed is proved using the method of constructing a solution.

Key words: Boundary value problem, parabolic-hyperbolic type, unique solvability, solution construction methods, continuous derivatives, boundary conditions, gluing conditions.

Introduction

It is known that mixed equations of the second order of elliptic-hyperbolic type were initially studied. Fundamental research on such equations began in the 1920s by the Italian mathematician Tricomi [1] and developed by Gellerstedt [2], AV Bitsadze [3, 4], KI Babenko [5], IL Karol [6], FI Frankl [7], MM Smirnov [8], MS Salakhitdinov [9] and others.

Investigations of the equations of elliptic-parabolic and parabolic-hyperbolic types of the second order began in the 50-60s of the last century. In 1959, IM Gel'fand [10] pointed out the need for joint consideration of equations in one part of the region of parabolic, and in the other part, of hyperbolic type. He gives an example related to the movement of a gas in a channel surrounded by a porous medium: in a channel, the movement of a gas is described by a wave equation, outside it - by a diffusion equation.

Then, in the 70-80s of the twentieth century, research began on equations of the third and higher orders of parabolic-hyperbolic type. Boundary value problems for such were posed and studied for the first time by TD Djuraev [11] and his students [12], [13].

Formulation of the problem

117	ISSN 2349-7793 (online), Published by INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, IT, ENGINEERING AND SOCIAL SCIENCES., under Volume: 16 Issue: 05 in May-2022 https://www.gejournal.net/index.php/IJRCIESS
	Copyright (c) 2022 Author (s). This is an open-access article distributed under the terms of Creative Commons Attribution License (CC BY). To view a copy of this license, visit https://creativecommons.org/licenses/by/4.0/

In this work, one boundary value problem is posed and investigated for a third-order parabolic-hyperbolic equation of the form

$$\left(a \frac{\partial}{\partial x} + b \frac{\partial}{\partial y} + c \right) (Lu) = 0 \quad \text{in the pentagonal area } G \text{ of the plane } xOy, \text{ where}$$

$$Lu = \begin{cases} u_{xx} - u_y, & (x, y) \in G_1, \\ u_{xx} - u_{yy}, & (x, y) \in G_i \quad (i = 2), \end{cases}$$

$$a, b, c \in \mathbb{R}, \quad \gamma = \frac{b}{a}, \quad 1 < \gamma < +\infty, \quad a \quad G = G_1 \cup G_2 \cup G_3 \cup J_1 \cup J_2, \\ G_1 = \{(x, y) \in \mathbb{R}^2 : 0 < x < 1, 0 < y < 1\},$$

$$G_2 = \{(x, y) \in \mathbb{R}^2 : -1 < y < 0, -1 - y < x < 1 + y\}, \quad G_3 = \{(x, y) \in \mathbb{R}^2 : -1 < x < 0, 0 < y < 1\},$$

$$J_1 = \{(x, y) \in \mathbb{R}^2 : y = 0, -1 < x < 1\}, \quad J_2 = \{(x, y) \in \mathbb{R}^2 : x = 0, 0 < y < 1\},$$

that is G_1 - rectangle with vertices at points $A(0;0)$, $B(1;0)$, $B_0(1,1)$, $A_0(0,1)$; G_2 - triangle with vertices at points B , $C(0,-1)$, $D(-1,0)$;

G_3 - rectangle with vertices at points A , A_0 , $D_0(-1,1)$, D ;

J_1 - open line segment with vertices at points B , D ;

J_2 - open line segment with vertices at points A , A_0 .

Here in this work, since $\gamma = \frac{b}{a}$ and $1 < \gamma < +\infty$, then without loss of generality we can assume $a > 0$, $b > 0$. For equation (1), the following problem is posed:

Problem 1. You want to find a function $u(x, y)$, which 1) is continuous in \bar{G} and in the area $G \setminus J_1 \setminus J_2$ has continuous derivatives involved in equation (1), Moreover u_x and u_y continuous in G up to part of the area boundary G specified in the boundary conditions; 2) satisfies Eq. (1) in the region $G \setminus J_1 \setminus J_2$ 3) satisfies the following boundary conditions:

$$u(1, y) = \varphi_1(y), \quad 0 \leq y \leq 1, \quad (2)$$

$$u(-1, y) = \varphi_2(y), \quad 0 \leq y \leq 1, \quad (3)$$

$$u_x(-1, y) = \varphi_3(y), \quad 0 \leq y \leq 1, \quad (4)$$

$$u|_{BC} = \psi_1(x), \quad 0 \leq x \leq 1, \quad (5)$$

$$u|_{DF} = \psi_2(x), \quad -1 \leq x \leq -1/2, \quad (6)$$

$$\frac{\partial u}{\partial n}|_{BC} = \psi_3(x), \quad 0 \leq x \leq 1, \quad (7)$$

$$\frac{\partial u}{\partial n}|_{CD} = \psi_4(x), \quad -1 \leq x \leq 0, \quad (8)$$

And 4) following gluing conditions:

$$u(x, +0) = u(x, -0) = T(x), \quad -1 \leq x \leq 1, \quad (9)$$

$$u_y(x, +0) = u_y(x, -0) = N(x), \quad -1 \leq x \leq 1, \quad (10)$$

$$u_{yy}(x, +0) = u_{yy}(x, -0) = M(x), \quad -1 \leq x \leq 1, \quad (11)$$

$$u(+0, y) = u(-0, y) = \tau_3(y), \quad 0 \leq y \leq 1, \quad (12)$$

$$u_x(+0, y) = u_x(-0, y) = v_3(y), \quad 0 \leq y \leq 1, \quad (13)$$

$$u_{xx}(+0, y) = u_{xx}(-0, y) = \mu_3(y), \quad 0 < y < 1, \quad (14)$$

where

$$T(x) = \begin{cases} \tau_1(x), & \text{если } 0 \leq x \leq 1, \\ \tau_2(x), & \text{если } -1 \leq x \leq 0; \end{cases}$$

$$N(x) = \begin{cases} v_1(x), & \text{если } 0 \leq x \leq 1, \\ v_2(x), & \text{если } -1 \leq x \leq 0; \end{cases}$$

$$M(x) = \begin{cases} \mu_1(x), & \text{если } 0 < x < 1, \\ \mu_2(x), & \text{если } -1 < x < 0, \end{cases}$$

$\varphi_j (j = \overline{1,3}) \psi_i (i = \overline{1,4})$, given sufficiently smooth functions, $\tau_i, \nu_i, \mu_i (i = 1, 2, 3)$ - unknown yet sufficiently smooth functions, n - intrinsic normal to a straight line $x + y = 0$ or $x - y = 1$ and the point F has coordinates $F(-1/2, -1/2)$

II. Research task

Theorem. IF $\psi_1 \in C^3 [0,1]$, $\psi_2 \in C^3 [-1, -1/2]$, $\psi_3 \in C^2 [0,1]$, $\psi_4 \in C^2 [-1,0]$, $\varphi_1 \in C^3 [0,1]$, $\varphi_2 \in C^3 [0,1]$, $\varphi_3 \in C^2 [0,1]$, and the matching conditions are satisfied

$\varphi_1(0) = \psi_1(1)$, $\varphi_2(0) = \psi_2(-1)$, $\psi_3'(0) = -\psi_4'(0)$, then problem-1 admits a unique solution.

Evidence. We prove the theorem by the method of constructing a solution. For this, we rewrite equation (1) in the form

$$u_{1xx} - u_{1y} = \omega_1 (bx - ay) e^{-\frac{c}{b}y}, (x, y) \in D_1, \quad (15)$$

$$u_{ixx} - u_{iyy} = \omega_i (bx - ay) e^{-\frac{c}{b}y}, (x, y) \in D_i (i = 2, 3), \quad (16)$$

where the notation is introduced

$u(x, y) = u_i(x, y)$, $(x, y) \in D_i (i = \overline{1,3})$, moreover $\omega_i (bx - ay) (i = \overline{1,3})$ - unknown so far sufficiently smooth functions to be determined. Let's look at the area first. We write down the solution to equation (16) ($i = 2$), satisfying conditions (9) and (10):

$$u_2(x, y) = \frac{1}{2} [T(x+y) + T(x-y)] + \frac{1}{2} \int_{x-y}^{x+y} N(t) dt - \frac{1}{2} \int_0^y e^{-\frac{c}{b}\eta} d\eta \int_{x-y+\eta}^{x+y-\eta} \omega_2 (b\xi - a\eta) d\xi \quad (17)$$

Substituting (17) into conditions (7) and (8), after some transformations, we find

$$\omega_2 (bx - ay) = -\sqrt{2} \psi_3' \left(\frac{bx - ay - a}{b - a} \right) e^{\frac{c(bx - ay - b)}{b(b-a)}}, a \leq bx - ay \leq b,$$

$$\omega_2 (bx - ay) = \sqrt{2} \psi_4' \left(\frac{bx - ay - a}{b + a} \right) e^{-\frac{c(bx - ay + b)}{b(b+a)}}, -b \leq bx - ay \leq a$$

These equalities imply $\psi_3'(0) = -\psi_4'(0)$.

Substituting (17) into (5), after some calculations, we have

$$T'(x) + N(x) = \alpha_1(x), \quad -1 \leq x \leq 1, \quad (18)$$

where

$$\alpha_1(x) = \psi_1' \left(\frac{x+1}{2} \right) + \int_0^{\frac{x-1}{2}} e^{-\frac{c}{b}\eta} \omega_2 (bx - (b+a)\eta) d\eta \quad \tau_2'(x) + \nu_2(x) = \alpha_1(x), \quad -1 \leq x \leq 0. \quad (19)$$

Substituting (17) into (6), after some calculations, we obtain

$$\tau_2'(x) - \nu_2(x) = \delta_1(x), \quad -1 \leq x \leq 0, \quad (20)$$

where

$$\delta_1(x) = \psi_2' \left(\frac{x-1}{2} \right) + \int_0^{\frac{-x+1}{2}} e^{-\frac{c}{b}\eta} \omega_2 (bx + (b-a)\eta) d\eta$$

From (19) and (20) we find

$$\tau_2'(x) = \frac{1}{2} [\alpha_1(x) + \delta_1(x)], \quad \nu_2(x) = \frac{1}{2} [\alpha_1(x) - \delta_1(x)] \quad (21)$$

Integrating the first of equalities (21) from -1 to x , we find

$$\tau_2(x) = \frac{1}{2} \int_{-1}^x [\alpha_1(t) + \delta_1(t)] dt + \psi_2(-1)$$

And for $0 \leq x \leq 1$ equation (18) takes the form

$$\tau_1'(x) + \nu_1(x) = \alpha_1(x), \quad 0 \leq x \leq 1 \quad (22)$$

Equation (1) can be rewritten as

$$au_{1xxx} + bu_{1xxy} + cu_{1xx} - au_{1xy} - bu_{1yy} - cu_{1y} = 0$$

Passing in the last equation and in the equation

(16) ($i = 2$) to the limit at

$y \rightarrow 0$, we have relations between unknown functions $\tau_1(x)$, $\nu_1(x)$ и $\mu_1(x)$:

$$a\tau_1'''(x) + b\nu_1''(x) + c\tau_1''(x) - a\nu_1'(x) - b\mu_1(x) - c\nu_1(x) = 0, \quad 0 \leq x \leq 1, \quad (23)$$

$$\tau_1''(x) - \mu_1(x) = \omega_2(bx), \quad 0 \leq x \leq 1. \quad (24)$$

Eliminating from (22), (23), and (24) the functions

$\nu_1(x)$, $\mu_1(x)$ and integrating the resulting equation from 0 to x , we arrive at the equation

$$\tau_1''(x) + \left(1 - \frac{c}{b-a}\right)\tau_1'(x) - \frac{c}{b-a}\tau_1(x) = \alpha_2(x) + k_1, \quad 0 \leq x \leq 1, \quad (25)$$

where

$$\alpha_2(x) = \frac{1}{b-a} \left\{ b\alpha_1'(x) - a\alpha_1(x) + \int_0^x [b\omega_2(bt) - c\alpha_1(t)] dt \right\},$$

while k_1 – the unknown is constant.

When solving equation (25), there can be three cases:

1°. $c \neq -(b-a)$, $c \neq 0$;

2°. $c = -(b-a)$;

3°. $c = 0$.

In case 1 °, the characteristic equation of equation (25) has two different real roots:

$$\lambda_1 = -1, \quad \lambda_2 = \frac{c}{b-a}.$$

In the case of 2 °, the characteristic equation of equation (25) has one double real root: $\lambda_{1,2} = -1$

In the case of 3 °, the characteristic equation of equation (25) has two different real roots:

$$\lambda_1 = -1, \quad \lambda_2 = 0.$$

Consider case 1 °. Solving equation (25) under the conditions

$$\tau_1(0) = \frac{1}{2} \int_{-1}^0 [\alpha_1(t) + \delta_1(t)] dt + \psi_2(-1),$$

$$\tau_1'(0) = \frac{1}{2} [\alpha_1(0) + \delta_1(0)], \quad \tau_1(1) = \varphi_1(0), \quad (26)$$

find

$$\tau_1(x) = \frac{b-a}{c+b-a} \int_0^x \left[e^{\frac{c(x-t)}{b-a}} - e^{t-x} \right] \alpha_2(t) dt +$$

$$+ \frac{b-a}{c+b-a} k_1 \left[\frac{b-a}{c} \left(e^{\frac{cx}{b-a}} - 1 \right) - (1 - e^{-x}) \right] + k_2 e^{-x} + k_3 e^{\frac{cx}{b-a}}$$

where

$$k_3 = \frac{b-a}{2(b-a+c)} \left\{ \int_{-1}^0 [\alpha_1(t) + \delta_1(t)] dt + 2\psi_2(-1) + \alpha_1(0) + \delta_1(0) \right\}$$

$$k_2 = \frac{c}{2(b-a+c)} \left\{ \int_{-1}^0 [\alpha_1(t) + \delta_1(t)] dt + 2\psi_2(-1) - \alpha_1(0) - \delta_1(0) \right\}$$

$$k_1 = \left[\frac{b-a}{c} \left(e^{\frac{c}{b-a}} - 1 \right) - (1 - e^{-1}) \right]^{-1} \left\{ \frac{b-a+c}{b-a} \left[\varphi_1(0) - k_2 e^{-1} - k_3 e^{\frac{c}{b-a}} \right] - \right.$$

$$\left. - \int_0^1 \left[e^{\frac{c(1-t)}{b-a}} - e^{t-1} \right] \alpha_2(t) dt \right\}$$

Consider case 2 °. Solving equation (25) under conditions (26), we have

$$\tau_1(x) = \int_0^x (x-t) e^{t-x} \alpha_2(t) dt + k_1 [1 - (1+x)e^{-x}] + (k_2 + k_3 x) e^{-x}$$

where

$$k_2 = \frac{1}{2} \int_{-1}^0 [\alpha_1(t) + \delta_1(t)] dt + \psi_2(-1) \quad k_3 = k_2 + \frac{1}{2} [\alpha_1(0) + \delta_1(0)]$$

$$k_1 = \frac{1}{e-2} \left[\varphi_1(0) e - k_2 - k_3 - \int_0^1 (1-t) e^{t-1} \alpha_2(t) dt \right]$$

Finally, consider case 3 °. In this case, Eq. (25) has the form

$$\tau_1''(x) + \tau_1'(x) = \alpha_2(x) + k_1, \quad 0 \leq x \leq 1$$

Integrating this equation from 0 to x , we arrive at the equation

$$\tau_1'(x) + \tau_1(x) = \alpha_3(x) + k_1x + k_2, \quad 0 \leq x \leq 1,$$

where

$$\alpha_3(x) = \int_0^x \alpha_2(t) dt$$

Solving the last equation under conditions (26), we have

$$\tau_1(x) = \int_0^x e^{t-x} \alpha_3(t) dt + k_1(x-1-e^{-x}) + k_2(1-e^{-x}) + k_3e^{-x},$$

where

$$k_3 = \frac{1}{2} \int_{-1}^0 [\alpha_1(t) + \delta_1(t)] dt + \psi_2(-1),$$

$$k_2 = k_3 + \frac{1}{2} [\alpha_1(0) + \delta_1(0)],$$

$$k_1 = \varphi_1(0)e - k_2(e-1) - k_3 - \int_0^1 e^t \alpha_3(t) dt$$

Now we go to the area G_3 . Passing in equations (16) ($i=3$) and (16) ($i=2$) to the limit at $y \rightarrow 0$, get

$$\omega_{31}(bx) = \omega_2(bx), \quad -1 \leq x \leq 0$$

Changing the argument bx to $bx - ay$, we have

$$\omega_{31}(bx - ay) = \omega_2(bx - ay), \quad -b \leq bx - ay \leq 0$$

$$\omega_3(bx - ay) = \begin{cases} \omega_{31}(bx - ay), & -b \leq bx - ay \leq 0, \\ \omega_{32}(bx - ay), & -b - a \leq bx - ay \leq -b. \end{cases}$$

Here it is set

Consider the following problem:

$$\begin{cases} u_{3xx} - u_{3yy} = \omega_3 (bx - ay) e^{-\frac{c}{b}y}, \\ u_3(x, 0) = \tau_2(x), u_{3y}(x, 0) = \nu_2(x), \quad -1 \leq x \leq 0, \\ u_3(-1, y) = \varphi_2(y), u_{3x}(-1, y) = \varphi_3(y), u_3(0, y) = \tau_3(y), \quad 0 \leq y \leq 1. \end{cases}$$

We will seek a solution to this problem in the form

$$u_3(x, y) = u_{31}(x, y) + u_{32}(x, y) + u_{33}(x, y), \quad (27)$$

where $u_{31}(x, y)$ – the solution to the problem

$$\begin{cases} u_{31xx} - u_{31yy} = 0, \\ u_{31}(x, 0) = \tau_2(x), u_{31y}(x, 0) = 0, \quad -1 \leq x \leq 0, \\ u_{31}(-1, y) = \varphi_2(y), u_{31}(0, y) = \tau_3(y), \quad 0 \leq y \leq 1; \end{cases} \quad (28)$$

$u_{32}(x, y)$ – the solution to the problem

$$\begin{cases} u_{32xx} - u_{32yy} = 0, \\ u_{32}(x, 0) = 0, u_{32y}(x, 0) = \nu_2(x), \quad -1 \leq x \leq 0, \\ u_{32}(-1, y) = 0, u_{32}(0, y) = 0, \quad 0 \leq y \leq 1; \end{cases} \quad (29)$$

$u_{33}(x, y)$ – the solution to the problem

$$\begin{cases} u_{33xx} - u_{33yy} = \omega_3 (bx - ay) e^{-\frac{c}{b}y}, \\ u_{33}(x, 0) = 0, u_{33y}(x, 0) = 0, \quad -1 \leq x \leq 0, \\ u_{33}(-1, y) = 0, u_{33}(0, y) = 0, \quad 0 \leq y \leq 1. \end{cases} \quad (30)$$

Using the continuation method, we find solutions to problems (28) - (30). They look like

$$u_{31}(x, y) = \frac{1}{2} [T_2(x+y) + T_2(x-y)], \quad (31)$$

Where

$$T_2(x) = \begin{cases} 2\varphi_2(-1-x) - \tau_2(-2-x), & -2 \leq x \leq -1, \\ \tau_2(x), & -1 \leq x \leq 0, \\ 2\tau_3(x) - \tau_2(-x), & 0 \leq x \leq 1; \end{cases}$$

$$u_{32}(x, y) = \frac{1}{2} \int_{x-y}^{x+y} N_2(t) dt \quad (32)$$

Where

$$N_2(x) = \begin{cases} -v_2(-2-x), & -2 \leq x \leq -1, \\ v_2(x), & -1 \leq x \leq 0, \\ -v_2(-x), & 0 \leq x \leq 1; \end{cases}$$

It has the form $u_{33}(x, y)$

$$u_{33}(x, y) = -\frac{1}{2} \int_0^y e^{-\frac{c}{b}\eta} d\eta \int_{x-y+\eta}^{x+y-\eta} \Omega_3(b\xi - a\eta) d\xi \quad (33)$$

The first two conditions of problem (30) are satisfied automatically. Satisfying the third of the conditions of problem (30), after simplification, we obtain

$$\int_0^y e^{-\frac{c}{b}\eta} \Omega_3(b(-1-y) + (b-a)\eta) d\eta = -\int_0^y e^{-\frac{c}{b}\eta} \Omega_3(b(y-1) - (b+a)\eta) d\eta \quad (34)$$

Changing variables in integrals (34) and differentiating the resulting equation, after some transformations, we obtain

$$\begin{aligned} & \frac{b}{b-a} \Omega_3(b(-1-y)) - \frac{2a^2}{b^2-a^2} \Omega_3(-b-ay) - \frac{2a^2c}{(b+a)^2(b-a)} \int_0^y \Omega_3(-b-at) e^{-\frac{c}{b}(by+at)} dt = \\ & = -\frac{b}{b+a} \omega_{31}(b(y-1)) + \frac{2abc}{(b+a)^2(b-a)} \int_{-1}^{y-1} \omega_{31}(bz) e^{-\frac{c}{b+a}(y-1-z)} dz \end{aligned} \quad (35)$$

Setting in (33) $x \rightarrow 0$, after some transformations, we have

$$\int_0^y e^{-\frac{c}{b}\eta} \Omega_3(by - (b+a)\eta) d\eta = -\int_0^y e^{-\frac{c}{b}\eta} \Omega_3((b-a)\eta - by) d\eta \quad (36)$$

Changing variables in the integrals of equality (36) and differentiating the resulting equation, after long transformations, we find

$$\Omega_3(by) = \frac{2a^2}{b(b-a)} \omega_{31}(-ay) e^{-\frac{c}{b}\eta} - \frac{b+a}{b-a} \omega_{31}(-by) - \frac{2ac}{(b-a)^2} \int_0^y e^{-\frac{c(y-z)}{b-a}} \omega_{31}(-bz) dz \quad (37)$$

Substituting (31), (32), and (33) into (27), we have

$$u_3(x, y) = \frac{1}{2} [T_2(x+y) + T_2(x-y)] + \frac{1}{2} \int_{x-y}^{x+y} N_2(t) dt - \frac{1}{2} \int_0^y e^{-\frac{c}{b}\eta} d\eta \int_{x-y+\eta}^{x+y-\eta} \Omega_3(b\xi - a\eta) d\xi \quad (38)$$

Differentiating this solution with respect to x, we have

$$u_{3x}(x, y) = \frac{1}{2} [T_2'(x+y) + T_2'(x-y)] + \frac{1}{2} [N_2(x+y) - N_2(x-y)] - \frac{1}{2} \int_0^y e^{-\frac{c}{b}\eta} \Omega_3(b(x+y) - (b+a)\eta) d\eta + \frac{1}{2} \int_0^y e^{-\frac{c}{b}\eta} \Omega_3(b(x-y) + (b-a)\eta) d\eta \quad (39)$$

Letting x tend to unity in (39), after long calculations and transformations, we find

$$\Omega_3(-b-ay) = \left\{ \frac{b+a}{a} [\tau_2''(y-1) + \nu_2'(y-1) - \varphi_2''(y) - \varphi_3'(y)] - \frac{b}{a} \omega_{31}(b(y-1)) - \frac{c}{a} [\tau_2'(y-1) + \nu_2(y-1) - \varphi_2'(y) - \varphi_3(y)] \right\} e^{\frac{c}{b}y}$$

Substituting the last equality in (35), we find

$$\begin{aligned} \Omega_3(b(-1-y)) &= \left\{ \frac{2a}{b} [\tau_2''(y-1) + \nu_2'(y-1) - \varphi_2''(y) - \varphi_3'(y)] - \frac{2a}{b+a} \omega_{31}(b(y-1)) - \frac{2ac}{b(b+a)} [\tau_2'(y-1) + \nu_2(y-1) - \varphi_2'(y) - \varphi_3(y)] \right\} e^{\frac{c}{b}y} - \frac{b-a}{b+a} \omega_{31}(b(y-1)) + \\ &+ \frac{2c}{b+a} \int_0^y [\tau_2''(t-1) + \nu_2'(t-1) - \varphi_2''(t) - \varphi_3'(t)] e^{\frac{c(t-y)}{b+a}} dt - \frac{2bc}{(b+a)^2} \int_0^y \omega_{31}(b(t-1)) e^{\frac{c(t-y)}{b+a}} dt - \\ &- \frac{2c^2}{(b+a)^2} \int_0^y [\tau_2'(t-1) + \nu_2(t-1) - \varphi_2'(t) - \varphi_3(t)] e^{\frac{c(t-y)}{b+a}} dt + \frac{2ac}{(b+a)^2} \int_{-1}^{y-1} \omega_{31}(bz) e^{\frac{c(y-1-z)}{b+a}} dz \end{aligned}$$

Now, letting x tend to zero in (33), taking into account (36), after long calculations and transformations, we obtain the relation

$$\nu_3(y) = \tau_3'(y) + \beta_1(y), \quad (40)$$

Where

$$\beta_1(y) = \tau_2'(-y) - \nu_2(y) + \frac{b}{b-a} \int_{\frac{a}{b}y}^y e^{-\frac{c(y-z)}{b-a}} \omega_{31}(-bz) dz$$

Now go to G_1 . Passing in equation (15) to the limit at $y \rightarrow 0$, we find

$$\omega_{12}(bx) = \tau_1''(x) - \nu_1(x), \quad 0 \leq x \leq 1, \quad (41)$$

where it should be

$$\omega_1(bx - ay) = \begin{cases} \omega_{11}(bx - ay), & -a \leq bx - ay \leq 0, \\ \omega_{12}(bx - ay), & 0 \leq bx - ay \leq b. \end{cases}$$

And passing in equations (15) and (16) ($i = 3$) to the limit at $x \rightarrow 0$, we obtain the relations

$$\mu_3(y) - \tau_3'(y) = \omega_{11}(-ay)e^{-\frac{c}{b}y}, \quad \mu_3(y) - \tau_3''(y) = \omega_{31}(-ay)e^{-\frac{c}{b}y}$$

Eliminating the function from these relations, we obtain

$$\omega_{11}(-ay) = [\tau_3''(y) - \tau_3'(y)]e^{\frac{c}{b}y} + \omega_{31}(-ay)$$

Next, we write down the solution of equation (15) satisfying conditions (2), (9), (12):

$$u_1(x, y) = \int_0^y \tau_2(\eta) G_\xi(x, y; 0, \eta) d\eta - \int_0^y \tau_3(\eta) G_\xi(x, y; 1, \eta) d\eta + \int_0^1 \tau_1(\xi) G(x, y; \xi, 0) d\xi - \int_0^y e^{-\frac{c}{b}\eta} d\eta \int_0^{\frac{a}{b}\eta} \omega_{11}(b\xi - a\eta) G(x, y; \xi, \eta) d\xi - \int_0^y e^{-\frac{c}{b}\eta} d\eta \int_{\frac{a}{b}\eta}^1 \omega_{12}(b\xi - a\eta) G(x, y; \xi, \eta) d\xi,$$

where $\left. \begin{matrix} G(x, y; \xi, \eta) \\ N(x, y; \xi, \eta) \end{matrix} \right\} = \frac{1}{2\sqrt{\pi(y-\eta)}} \sum_{n=-\infty}^{+\infty} \left\{ \exp\left[-\frac{(x-\xi-2n)^2}{4(y-\eta)}\right] \mp \exp\left[-\frac{(x+\xi-2n)^2}{4(y-\eta)}\right] \right\}$ - Green's functions of the first and second boundary value problems for the Fourier equation.

Differentiating this solution with respect to x and tending x to zero, taking into account (40), (41) and (42) after lengthy calculations and transformations, we obtain the Volterra integral equation of the second kind with respect to the unknown function $\tau_3'(y)$:

$$\tau_3'(y) + \int_0^y K(y, \eta) \tau_3'(\eta) d\eta = g(y) \quad (43)$$

where $K(y, \eta)$, $g(y)$ – known functions, and the kernel $K(y, \eta)$ has a weak singularity $\left(\frac{1}{2}\right)$, and $g(y)$ – is continuous. Therefore, equation (45) admits a unique solution in the class of continuous functions. Solving this equation, we find the function $\tau_3'(y)$ and thus the functions $\tau_3(y)$, $v_3(y)$, $\omega_{11}(bx - ay)$, $u_1(x, y)$, $u_3(x, y)$.

Thus, we have determined the solution to Problem 1 completely.

Comment. Similar problems for equations of the third and fourth orders were studied in [14] - [18].

Literature

1. Tricomi F. On linear second order partial differential equations of mixed type. M.-L., Gostekhizdat, 1947, 190 p.
2. Gellerstedt S. Sur un probleme aux limites pour une equation lineare aux derivees partielles du second ordre de tipe mixte. Theis uppsala, 1935.
3. Bitsadze A.V. Mixed type equations. Results of Science (2). Phys.-mat. Sciences. M., 1959, 164 p.
4. Bitsadze A.V. Some classes of partial differential equations. M., Nauka, 1981, 448 p.
5. Babenko K.I. On the theory of equations of mixed type. Doctoral dissertation (Library of the Mathematical Institute of the Academy of Sciences of the USSR, 1952).
6. Karol I.L. On a boundary value problem for an equation of mixed elliptic-hyperbolic type. DAN SSSR, 88, 2, 1953, p. 197-200.
7. Frankl F.I. On Chaplygin's problems for mixed sub- and supersonic flows. Izv. Academy of Sciences of the USSR, series of mat. 9, 2, 1945, p. 126-142.
8. Smirnov M.M. Mixed type equations. M., Nauka, 1970, 296 p.
9. Salakhitdinov M.S. Mixed-compound equations. Tashkent, Fan, 1974, 156 p.
10. Gelfand I.M. Some questions of analysis and differential equations. UMN, v. XIV, no. 3 (87), 1959, p. 3-19.
11. Dzhuraev TD, Sopuev A., Mamazhanov M. Boundary value problems for equations of parabolic-hyperbolic type. Tashkent, Fan, 1986, 220 p.

12. Dzhuraev TD, Mamazhanov M. Boundary value problems for a class of fourth-order equations of mixed type. *Differential equations*, 1986, v.22, No. 1, pp.25-31.

13. Takhirov Zh.O. Boundary value problems for a mixed parabolic-hyperbolic equation with known and unknown dividing lines. Abstract of Ph.D. thesis. Tashkent, 1988.

14. Шерматова, Х.М. (2020). Исследование краевой задачи для параболического гиперболического уравнения третьего порядка в виде $(b*\partial/\partial y+c)(Lu)=0$. Теоретические и прикладные науки, (7), 160-165. <http://www.t-science.org/arxivDOI/2020/07-87/07-87-37.html>

15. Mamazhonov M., Mamazhonov S.M., Mirzakulov B.A. Investigation of one boundary value problem for a fourth-order equation of parabolic-hyperbolic type in a mixed pentagonal domain with two lines of type change. Abstracts of reports of the international scientific conference on the topic "Modern problems of differential equations and related branches of mathematics." Fergana, March 12-13, 2020, p. 98-102.

16. Mamajonov, M., Shermatova, X. M., & Mukaddasov, X. (2014). Постановка и метод решения некоторых краевых задач для одного класса уравнений третьего порядка парабола-гиперболического типа. *Вестник KRAUNS. Физико-математические науки*, (1 (8)), 7-13.

17. Mamajonov, M., Shermatova, X. M., & Muxtorova, T. N. (2021). Об одной краевой задаче для уравнения парабола-гиперболического типа третьего порядка в вогнутой шестиугольной области. *ХИИИ Белорусская математическая конференция: материалы Международной научной конференции, Минск, 22–25 ноябрь 2021 г.: в 2 ч./сост. ВВ Лепин; Национальная академия наук Беларуси, Институт математики, Белорусский государственный университет.–Минск: Беларуская навука, 2021.–Ч. 1.–с..*

18. Mamajonov, M., & Shermatova, X. M. (2017). Об одной краевой задаче для уравнения третьего порядка парабола-гиперболического типа в вогнутой шестиугольной области. *Вестник KRAUNS. Физико-математические науки*, (1 (17)), 14-21.